No. Plan Article Qty
1 Y011988 1669654 1
2 Y011987 1669854 1
3 Y011148 1669754 6
4 Lever M8x15 1006661 1
5 XP01548 1001524 2
6 Lever M8x12 1900712 3
7 Washer M8 1001554 3
8 Y006826 1599954 1
9 M6x20 1006999 2
10 X003698 1004550 2
11 Star Knob M6x20 1009932 1
12 Tube cap 15x15 1005899 1
13 Y006187 1599800 1
| 14 E00066476 2998020 1
15 E00052508 2998018 1
16 1001526 1001526 1
2998011
— Plan No.
PLEGO L58C HEADREST e
Scale: 1:4 Drafted Verified Confirmed
Date 18.08.2023 10-04-2025 10-04-2025 MY
Initials BK MP SD Q00




